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Fundamentals
Lesson 1.2 Radicals

In IB, radicals are sometimes called surds (but we will almost never call them that...). When
we are working with radicals, there are a few rules that we need to follow.

The following rules can be applied:
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Note that we prefer not to have radicals in the denominator of a fraction and would require
the process of rationalization.
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Eg2. Simplify the following entire radicals to mix radicals.
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Radicals can be added or subtracted only when the radicands and their indexes are the same.

Eg3. Simplify.
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Eg4. Simplify.
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Practices:  p.9 #1-22
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Exercise 1.2

: In questtons 1 9 express each in terms of the sumpiest posmble radical
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21 Gwen that a= and b= ——t . , find the value of a* + b%.

1
24/3-1 " 23+

22 If 35 — 124/6 = (\/a — v/b)?, find the values of 8 and b and hence state the
square root of 35 — 124/6. : _
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Answers

Exercise 1.2
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